
Distributive Grid multiplication with two- by three-digit numbers (2x3)

Solutions are on page 2

(1) (2) (3)395 x 98 = 38,710

27,000 8,100 450

2,400 720 40

hundreds          tens            ones

300    90     5

90

8

tens

ones

27,000
8,100

450

2,400
720
40

+_______

38,710

512 x 78 = 493 x 95 = 

(4) (5) (6)111 x 11 = 952 x 50 = 570 x 71 = 

(7) (8) (9)410 x 41 = 638 x 32 = 294 x 11 = 

(10) (11) (12)282 x 12 = 414 x 40 = 250 x 70 = 
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Distributive Grid multiplication with two- by three-digit numbers (2x3)

Also see video: 'Multiplying Multi-Digit Numbers with the Distributive Grid Method'

(1) (2) (3)395 x 98 = 38,710

27,000 8,100 450

2,400 720 40

hundreds          tens            ones

300    90     5

90

8

tens

ones

27,000
8,100

450

2,400
720
40

+_______

38,710

512 x 78 = 39,936

35,000 700 140

4,000 80 16

hundreds          tens            ones

500    10     2

70

8

tens

ones

35,000
700
140

4,000
80
16

+_______

39,936

493 x 95 = 46,835

36,000 8,100 270

2,000 450 15

hundreds          tens            ones

400    90     3

90

5

tens

ones

36,000
8,100

270

2,000
450
15

+_______

46,835

(4) (5) (6)111 x 11 = 1,221

1,000 100 10

100 10 1

hundreds          tens            ones

100    10     1

10

1

tens

ones

1,000
100
10

100
10
1

+_______

1,221

952 x 50 = 47,600

45,000 2,500 100

0 0 0

hundreds          tens            ones

900    50     2

50

0

tens

ones

45,000
2,500

100

0
0
0

+_______

47,600

570 x 71 = 40,470

35,000 4,900 0

500 70 0

hundreds          tens            ones

500    70     0

70

1

tens

ones

35,000
4,900

0

500
70
0

+_______

40,470

(7) (8) (9)410 x 41 = 16,810

16,000 400 0

400 10 0

hundreds          tens            ones

400    10     0

40

1

tens

ones

16,000
400

0

400
10
0

+_______

16,810

638 x 32 = 20,416

18,000 900 240

1,200 60 16

hundreds          tens            ones

600    30     8

30

2

tens

ones

18,000
900
240

1,200
60
16

+_______

20,416

294 x 11 = 3,234

2,000 900 40

200 90 4

hundreds          tens            ones

200    90     4

10

1

tens

ones

2,000
900

40

200
90
4

+_______

3,234

(10) (11) (12)282 x 12 = 3,384

2,000 800 20

400 160 4

hundreds          tens            ones

200    80     2

10

2

tens

ones

2,000
800
20

400
160

4
+_______

3,384

414 x 40 = 16,560

16,000 400 160

0 0 0

hundreds          tens            ones

400    10     4

40

0

tens

ones

16,000
400
160

0
0
0

+_______

16,560

250 x 70 = 17,500

14,000 3,500 0

0 0 0

hundreds          tens            ones

200    50     0

70

0

tens

ones

14,000
3,500

0

0
0
0

+_______

17,500
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